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01 AFR22lH] 6,480 7,200 AT20
Olget2H|] 6,180 6,900 AT20
OSIREXNHBAAERY 2CXE - X7 &
ol =3 XM EZ2F 2XIY(20a=2
o) A 3,780,0008 * 14l 3,780 4,500 AT20
202 O] 180 200 A20
01 2o 180 200 A20
OZ2EXNFRELXIXN LS HEQTALOHI (2 0) &
 2H0H) ZA 180,000 * 1Al 180 200 A20
X2l HEMHA L SR 22| 85,055 50,200 34,855
ZARY P=AY 85,055 50,200 34,855
202 OfH] 180 200 A20
01 2o 180 200 A20
OXRIEE(GIS) S22 XIGIAIESEIIIIZZA
OHI (=20l A= 2toH) ZE 180,0008 * 14! 180 200 A20
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OCZAXNSGANEESBSIAESANLESLAEAT
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OXEINE TEAIAE DT MA | (207
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AH2APH (SEoa) 164,394 182,660 18,266
ClE (B2 ) 3,780 4,200 420
ol 2| 3,780 4,200 420
203 2= 3,780 4,200 A420
04 BN2IARFZH| 3,780 4,200 420
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SN ESUAD
HE: #H2YAY(SHUAD)
el Jl= Yl (S5 &2)
SA-EFH - SA(SAH) - MREAY - BES Off &F K JIEH Hws2
201 Yer2 YY) 12,814 14,233 A1, 424
01 A2l 12,814 14,233 A1, 424
SIEIIES=11T) 7,144 7,938 AT94
ORNSY SUA (=0 A=2N)
AT 7,144,002 * 1A 7,144 7,938 AT94
ol2ztl] 5,670 6,300 A630
ORNSY SUA (20 L4E2Y)
A 5,670,002 * 1A 5,670 6,300 £630
202 Oft] 0,206 11,340 A1, 134
01 =2Uoibl 10,206 1,340 A1, 134
ORKHSSBUH A (2L E2Y)
A 10,206,0002 * 14! 10,206 11,340 A1, 134
Nel¥egs J1=3y) 14,175 15,750 A1,575
201 Yer2 Y| 8,505 9,450 A945
01 At 2l 8,505 9,450 ~945
Olgst+2H] 4,725 5,250 A525
ORNSY S (202N
AT 4,725,002 * 14 4,725 5,250 ~525
Ol=&l] 3,780 4,200 A 420
ORNESY SAN (20 LE2N)
AT 3,780,002 * 1A 3,780 4,200 £420
202 04t 5,670 6,300 A630
01 =2Uloibl 5,670 6,300 £630
ORNSY SAUHA(ZOAE2N)
A 5,670,002 * 1A 5,670 6,300 £630
AzpiAGY JI=HY| 16,662 8,513 A1,851
201 LBty 8,724 9,693 A969
01 At 8,724 9,693 £.969
SIEITE==11T) 5,557 6,174 ~617
ORNSY SUAN (RN
A 5,557,002 * 1Al 5,557 6,174 ~617
SIEEL 3,167 3,519 ~352
ORMSYBUN A (2O AE2Y)
AT 2,667,002 * 1A 2,667 3,019 A352
202 04t 7,938 8,820 1882
01 =2Uloi8l 7,938 8,820 £882
ORNSYS AN (20 AT H)
AN 7,938,002 * 1A 7,938 8,820 882
2 FH(SSHLR) 37,800 42,000 A4,200
A2 Y| (SHAD) 37,800 42,000 A4,200
201 LByl 37,800 42,000 A4,200
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